


119 boys took part in an art competition. 15 more
girls than boys took part. How many girls took
part in the competition?

m We are comparing the boys to the girls. We
know the smaller quantity. To find the bigger
quantity we add 119 + 15.
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134 gitls took part in an art competition. 15 fewet
boys than gitls took part. How many boys took
part in the competition?

m We are comparing the girls to the boys. We
know the bigger quantity. To find the smaller
quantity we subtract 134 — 15.
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134 ¢irls and 119 boys took part in an art
competition. How many more gitls than boys took
part in the competition?

m VWe are com

paring the girls to the boys. To

find the difference we subtract 134 — 119.
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